(PV)
(MSW)
(HTI)
(SB)
(SPT)

23

23

23

23

23

23

26

26

26

26

25

25

26

27

1 (1/24)
1 (1/24)
2 (2/18)
12 (12/11)
12 (12/5)

2 (2/4)



JOCRFE=E 1K

B {57 :mSv/h




&0 @& 0'025.5 060 [0.010
[ 12 ] 11 065 |0.027
90 | 20 [is]) 0.12 | 050 [ 025 |
= Y, = ' 0.70 | y
0005 | 0.020
D D HDD DDD 0.020 0.50 L
0025/ 0.13 s
|:| ﬂ 1 | 0.30
i
0.50 !
0.50 [

0.010

B

L

0.030

o
1.5 ;|
ot Ea'-*é;ﬁ

-
-

=
°-|3f’|h[_i0-0551 25 | 10 o S ' T

= Teza)
- o)

5

0.030

i

0.070

() ||oo000
g B

BE{I:mSv/h

JOEXRTEE 158



0.003(0.0040f ~

0.0050/0.0040

0.040

0.30

B3I :mSv/h TOTLAIER 2k




0.0070

0.0025

B {57 :mSv/h

L]

JOVXRFEEERE 3’




B {57 :mSv/h

i

0.035

—-'
EﬁDHBJ:-D E

012 0045 e 0060
m (0.080] %l 0.10 0 R 5%
0.15
I_l BAOER E
o 0.030

0.0050,

0.0020
(.

0.0030
o

0.0020

10,0050,

5=

O EIIErEIs

0.0050 0-0050]

0030 =2,

\

500

JOLCRTREE 458




0
0.010

0.0090)

r 0 = {0010]

0.0080

B {57 :mSv/h

A TIE=ERE 108



L
0.012}

- — f] d
RERARE

0.26 @%@0.010 b.oos@ 0.010
] _ 0010| T

0.14

RHFIL—

[o029)

B {57 :mSv/h

.008 0.010§|| (0.010

; ] l"l-\_r"?
010 | =2 ] 0
emi (0060){ Hoo10)
[ ] S
— U < L L ¢
REZRAKE i 008
0.40 ] Mﬂﬂ o

1 (0020) 005 Il

070 ][__Joos2 0.15

C————

||
0.080 "10.080

WA TIE=ERE 155



L
=_l|.:
b

"1.\‘
'\.\1
-
S,
—
0050
]
1— -
= 0.0040
S -
P 0.0045

B {57 :mSv/h

o

0.0010

T
L 1™
1 0o;m

0.0010;

010/ [oot1) I] [

0.0012

0.0016]
0.0018

WA TIEERZRE 25




oozo) oz

6.25] [0.19;]'[0.25] -

PI-400B 2.2

/ PI-500B 3.0

1.8
K \ \ / L/
: 0.20) [015Wo 30 04%0 6%@50 0.25
—1

(0. 26][0 20[0 27)(0.30]0. 28105

(0.40)

bo7d  [0.08g

(0.15]

(0.28]0. 20[0 15]0.25]0.20]0.20]

I IT
[018\@013 020 03$i04& {645 040/

\

0.35[1(0.10/0.15

0300.03
boidoosg ©

oo

]

=

PI-902A 5.0 __—

PIT-400A
2.3

B {57 :mSv/h

MERERZRBSVIEZE 1

500A
9




0.10 | |0.75 \ /

025 | | 030 |+ s

013 | lEER 7N
2.0 s 5\
010 | [0030] ¥ [o015]™
0020| |0.080 0.0050 M q_

0.060

[] Ooo 0.0050,

0.0050 {0.0050 ™
0.010 e[0010 T
| |F h (0010]
m m E 1]

(- -
0.0050 O Lz
0012

0.015|—{0.015
D 0.020 0.0080,

0.030

0.30 0.010

0013 o) 00040 0.0080 00079 (0055
00030 [0010]0.0070

| ©
0.023| . |0.040 o E E —
0.0050,
0.0070

0.030( ( 0.045 O — -

“ O
6025 0.060 ') |:I u — Q

U o ]
0.0060 [

2.0

0.20

B {57 :mSv/h

MERERZRBSVIEZE 26



i
0.0050}10.0050
igs

o
0.030

1 (o015

|
'n .

0.080

- [_ )
—1 O'OZOJ-n — —1 — —i

B {57 :mSv/h

T4 ENYA-EE N E



0.15

010) (0030 [0025] (001  [001) ——

0.020

(0039

0.018

o |L—{100]| [>100

1] [ D
N el
JI | : ] l

—

]@

Joosg  [0053)

B {57 :mSv/h

: 1los) — lboosg — (050 'Jr‘_i_fﬁ lo70]
i u

Y1 ENVAO-ERE 158




= Lo, [ :

(o060
1 e |
0.020

0.15 b.002(
.
0.020
o0m) lots) (0015 (0018
e oy B
0080 0.024
BH#I1L5
0.010 0.030
1 M 1 M ]
SPT/B~

B {57 :mSv/h

T RNV —BE 28



B {7 :mSv/h

SPTEZRE ttH1E




0.080 THTI/B/\

108 (oan)
| 0.080 |— 1

L
1 | 1 I
INIBIRIR
—— 1 1
1 |[(oon
—— 1

_ Sh/B~ — |L

2l r 0.080 | | |'
0.060
SPT/B~ &

B {57 :mSv/h

SPTERE 18- 2



it

g (0.00e0)

0.0070; 0.007

)
=3
o
S
%o
o

0.0080, 0.0045

2.

B {I:mSv/h

FiTL =Tl
Do0q (00050 - [o.oooeolrlrﬂo_oooeo] i
0.0040]  [0.0015) .
] O w
I] 00040 || p.00069 _ 0.0010
d___ I_[ 00030
0.0020/0.0030]  [0.0020) O
l_l L] F%éo'f*;(;i]ﬁ 0.0040] 00020 0.020 || 0.025
25 i L {oot0]] []
0.0060}10.0025) [0.0045) : 00015 loootg] (00012 00050 50010
% o002
L Lu: | 10 [T 050 |—_
'S 0.30
] 20 {0080 il
" (013 ]
i lo.0018) (3 () ] | :
0007  [0.0029
O
1 J — |-I_| | g 1 1 1 I

EFRmEN MR N 1 [




0.0070

0.0040/0.0040/0.0080] (|

_
et

00025 | (0040 (0.011) [0.020 0,040 Efoﬁ
0.022/-7" H0.0020C :
(045] (005 0.0080 ] 0020] [~
0.0070 00030f] (oo

0.015 0010
0015]  [(0015]
0.0080

L
0035]  [0.020 .
0010 B [0.0030

. )

—

-1 4

B {57 :mSv/h

E B AR 16




L—L\/[e =
‘o.omoET r I_jS
] S E

@]

B {57 :mSv/h

& B AR

e




()
—0.0015/
0.0030
0.0025 0.0050 0.0025) (00030
0.0045
FL || )
T o F
\ S
\ /
LY f
\ /
O ] \ / C
-] N\ Fa
L
LA
/N
/
j /! \\ E
/! \
/ \
Y Y

0.0040

0.0030

\

ﬁooso]—[o.ooso]

5 ———0.0045]

B {57 :mSv/h

ERmEI AR 3

0.01 ?] [0.0060] (0.0045)

\.






